Counting coins

Grade 1 Word Problems Worksheet

1. Ashley has 2 nickels and 3 quarters. How much
money does Ashley havee

2. Noah has 50 cents, and his mother gives him 3
quarters. How much money does Noah have?

3. Olivia has 60 cents, and she spends 3 dimes and
1 nickel. How much money does she have?¢

1 Cent 5 Cents 10 Cents 25 Cents
"Penny" "Nickel" "Dime" "Quarter"

© Edukidss.com Elementary and Kindergarten Teaching



http://www.edukids.com/
http://www.edukidss.com

4. Liam has 2 quarters and 3 nickels. After he spends
30 cents, how much money does he have?

5. James has 5 dimes and 1 quarter. Isabella has 3
quarters and 1 nickel. Who has more money<

6. Ethan has 3 quarters and 2 dimes. John has 6
dimes. After John gives Ethan two of his dimes,
who has less money?

1 Cent 5 Cents 10 Cents 25 Cents
"Penny" "Nickel" "Dime" "Quarter"
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Answers

1.

5+5+25+25+25=85
Ashley has 85 cents.

50+ 25+ 25+25=125
Noah has a dollar and 25 cents.

60-10-10-10-5=25
Olivia has 25 cents.

25+25+5+5+5=65
65 —-30=235
Liam has 35 cents.

James: 10+ 10+ 10+ 10+ 10+ 25=75
Isabella: 25 +25 + 25+ 5 =80
Isabella has more money.

Ethan: 25+ 25 +25+ 10+ 10=95
John: 10+ 10+ 10+10+ 10 + 10 =60
John has less money.
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